

# 9.6 Ratio Test

Pg. 633 # 21-32

$$21) \sum_{n=1}^{\infty} \frac{n^3}{3^n}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)^3}{3^{n+1}} \cdot \frac{3^n}{n^3}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)^3}{3n^3} = \frac{1}{3} < 1$$

The series converges by the ratio test.

$$22) \sum_{n=1}^{\infty} \frac{(-1)^{n+1} (n+2)}{n(n+1)}$$

$$\lim_{n \rightarrow \infty} \frac{(n+3)}{(n+1)(n+2)} \cdot \frac{n(n+1)}{(n+2)}$$

$$\lim_{n \rightarrow \infty} \frac{n^2+3n}{n^2+4n+4} = 1$$

$$1) \lim_{n \rightarrow \infty} \frac{n+2}{n(n+1)} = 0 \checkmark$$

$$2) \frac{n+3}{(n+1)(n+2)} \leq \frac{n+2}{n(n+1)} \checkmark$$

The ratio test is inconclusive, but the series converges by the alternating series test.

$$23) \sum_{n=1}^{\infty} \frac{(-1)^n 2^n}{n!}$$

$$\lim_{n \rightarrow \infty} \frac{2^{n+1}}{(n+1)!} \cdot \frac{n!}{2^n}$$

$$\lim_{n \rightarrow \infty} \frac{2 \cdot n!}{(n+1)!} = \frac{2n!}{(n+1)n!}$$

$$\lim_{n \rightarrow \infty} \frac{2}{n+1} = 0 < 1$$

The series converges by the ratio test.

$$24) \sum_{n=1}^{\infty} \frac{(-1)^{n+1} (3/2)^n}{n^2}$$

$$\lim_{n \rightarrow \infty} \frac{(3/2)^{n+1}}{(n+1)^2} \cdot \frac{n^2}{(3/2)^n}$$

$$\lim_{n \rightarrow \infty} \frac{(3/2)n^2}{n^2+2n+1} = \frac{3}{2} > 1$$

The series diverges by the ratio test.

$$25) \sum_{n=1}^{\infty} \frac{n!}{n3^n}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)!}{(n+1)3^{n+1}} \cdot \frac{n3^n}{n!}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)n! \cdot n}{3(n+1)n!} = \frac{n}{3} = \infty > 1$$

The series diverges by the ratio test.

$$26) \sum_{n=1}^{\infty} \frac{(2n)!}{n^5}$$

$$\lim_{n \rightarrow \infty} \frac{(2(n+1))!}{(n+1)^5} \cdot \frac{n^5}{(2n)!}$$

$$\lim_{n \rightarrow \infty} \frac{(2n+2)!}{(n+1)^5} \cdot \frac{n^5}{(2n)!}$$

$$\lim_{n \rightarrow \infty} \frac{(2n+2)(2n+1)(2n)!}{(n+1)^5} \cdot \frac{n^5}{(2n)!}$$

$$\lim_{n \rightarrow \infty} \frac{(2n+2)(2n+1)n^5}{(n+1)^5}$$

$$\lim_{n \rightarrow \infty} \frac{4n^7+6n^6+2n^5}{(n+1)^5} = \infty > 1$$

The series diverges by the ratio test.

$$27) \sum_{n=0}^{\infty} \frac{e^n}{n!}$$

$$\lim_{n \rightarrow \infty} \frac{e^{n+1}}{(n+1)!} \cdot \frac{n!}{e^n}$$

$$\lim_{n \rightarrow \infty} \frac{e \cdot n!}{(n+1)n!} = \frac{e}{n+1} = 0 < 1$$

The series converges by the Ratio test.

$$28) \sum_{n=1}^{\infty} \frac{n!}{n^n}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)!}{(n+1)^{n+1}} \cdot \frac{n^n}{n!}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)n!}{(n+1)(n+1)^n} \cdot \frac{n^n}{n!}$$

$$\lim_{n \rightarrow \infty} \frac{n^n}{(n+1)^n} = \left(\frac{n}{n+1}\right)^n$$

$$\lim_{n \rightarrow \infty} \left(\frac{n}{n+1}\right)^n$$

$$\frac{1}{e} < 1$$

The series converges by the ratio test.

$$y = \left(\frac{n}{n+1}\right)^n$$

$$\ln y = n \ln\left(\frac{n}{n+1}\right)$$

$$\lim_{n \rightarrow \infty} \frac{\ln\left(\frac{n}{n+1}\right)}{1/n} = \frac{0}{0}$$

$$\lim_{n \rightarrow \infty} \frac{\left(\frac{1}{n+1}\right) \left(\frac{n(n+1)(1)}{(n+1)^2}\right)}{-1/n^2}$$

$$\lim_{n \rightarrow \infty} \frac{n+1}{n} \left(\frac{n-n+1}{(n+1)^2}\right) \cdot (-n^2)$$

$$\lim_{n \rightarrow \infty} \left(\frac{n+1}{n}\right) \left(\frac{1}{(n+1)^2}\right) (-n^2)$$

$$\lim_{n \rightarrow \infty} \frac{-n}{n+1} = -1$$

$$e^{\ln y} = e^{-1}$$

$$y = 1/e$$

$$29) \sum_{n=0}^{\infty} \frac{6^n}{(n+1)^n}$$

$$\lim_{n \rightarrow \infty} \frac{6^{n+1}}{(n+2)^{n+1}} \cdot \frac{(n+1)^n}{6^n}$$

$$\lim_{n \rightarrow \infty} \frac{6(n+1)^n}{(n+2)^{n+1}} = 0 < 1$$

The series converges by the ratio test.

$$30) \sum_{n=0}^{\infty} \frac{(n!)^2}{(3n)!}$$

$$\lim_{n \rightarrow \infty} \frac{((n+1)!)^2}{(3(n+1))!} \cdot \frac{(3n)!}{(n!)^2}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)^2 (n!)^2}{(3n+3)(3n+2)(3n+1)(3n)!} \cdot \frac{(3n)!}{(n!)^2}$$

$$\lim_{n \rightarrow \infty} \frac{(n+1)^2}{(3n+3)(3n+2)(3n+1)} = 0 < 1$$

The series converges by the ratio test.

$$31) \sum_{n=0}^{\infty} \frac{5^n}{2^{n+1}}$$

$$\lim_{n \rightarrow \infty} \frac{5^{n+1}}{2^{n+1} + 1} \cdot \frac{2^{n+1}}{5^n}$$

$$\lim_{n \rightarrow \infty} \frac{5(2^n) + 5}{2(2^n) + 2}$$

$$\lim_{n \rightarrow \infty} \frac{5(\ln 2)2^n}{2(\ln 2)2^n} = \frac{5}{2} > 1$$

The series diverges by the ratio test.

$$32) \sum_{n=0}^{\infty} \frac{(-1)^n 2^{4n}}{(2n+1)!}$$

$$\lim_{n \rightarrow \infty} \frac{2^{4n+4}}{(2n+3)!} \cdot \frac{(2n+1)!}{2^{4n}}$$

$$\lim_{n \rightarrow \infty} \frac{2^4 (2n+1)!}{(2n+3)(2n+2)(2n+1)!}$$

$$\lim_{n \rightarrow \infty} \frac{2^4}{(2n+3)(2n+2)} = 0 < 1$$

The series converges by the ratio test.